
PEPPER SPRAY ANALYSIS CONCLUSIONS 

 

 

1.  The actuator was in working condition and the canister was found to contain the 

following amount of pepper solution: ___ .  This amount was ____ percent of the 

amount stated on the label for a full canister. 

 

2.  The actuator was in working condition but the canister did not have sufficient 

propellant to empty all the contents.  The following amount of pepper solution was 

obtained:  ___.  This amount was ____ percent of the amount stated on the label for 

a full canister. 

 

3.  The actuator was not in working condition; therefore, no qualitative or 

quantitative analysis could be performed. 


